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CBSE 12th - 2022-23

Accounts II-Computerised Accounting
Answers
Part A

Section A

1. Correct Answer: A

Computation of sacrificing ratio and new profit sharing ratio

Share sacrificed =

U1||—\
U'Ill—‘

Sacrificing ratio of Hameed and Govind is 1:1

Old ratiois 5:3 that is

OOIo-l
OOIoo

New share of old partner = Old share - Share sacrificed

Hameed E_l 25_£:£
8 5 40 40
Govind :§_1=15_i=l
8 5 40 40

Share of new partner

John =Sum of shares sacrificed by old partners

In order to equalise the denominator of John’s share, multiply and divide by 8

John’s share =g><§ 16
5 8 40
New profit sharing ratio of Hameed, Govind and John is 7. l 16 or
40 40 40

17:7:16
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2. Correct Answer: C

Commission provided to partner is charge against profits and is to be provided at fixed rate

and hence, is to be debited to profit & Loss Account.

3. Correct Answer: C

Particulars Amount (X)
Share capital A/C Dr (8>< 20)2160
To share forfeiture A/C (5>< 20) =100
To Calls in arrears A/C (3><20):60
Particulars Amount (X)
Bank A/C Dr (6x15)=90
Share forfeiture A/C Dr (4><15) =60
To share capital A/C (]_0><:|_5) =150
Particulars Amount (X)
Share forfeiture A/C Dr 15
To share capital reserve A/C 15
Working notes:
Total capital =10x15=150
Receive capital =5x15=75
Newly received capital =6x15=90
Capital reserve =15
OR

Correct Answer: C

Face value = . 50, 00,000

Redeemable value = %. 55,00,000 ( 10% Premium on Redemption)
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Loss on redemption = X.5,00,000

Since, loss on issue of debentures debited to Profit & Loss A/c = X. 2,00, 000
Loss adjusted is only .2, 00, 000 .

Company issued shares at premium of balance amount X. 3,00,000.

(Loss on redemption - loss on issue debited to P/L A/c.

3,00,000
Percentage of premium = ————x100=6%

50,00,000
Securities premium = %. 5,00, 000
Amount of loss written off at the time of issue = 2,00,000
Total Loss written off on issue of debentures = X. 20,00, 000 .
Which includes X.16,00,000 which was premium at the time of redemption of debentures
Balance . 4,00,000 would treated as Discount on issue of debentures.

4,00,000
Percentage of discount on issue of debenture 80,00, 000 X 0

4. Correct Answer: D

G’s Share of Profit as per PSR =312000 x % = 78000

Guranteed amout of profit to G =80000

Hence, Deficiency Needs to be borne by E is 2000

OR
Correct Answer: A
Anubhav Shagun Pulkit
OLD PSR 2 2 1
NEW PSR 5 5 2
OLD PSR —NEW PSR L Gain 1 sacrifice 0
10 10
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So after applying gain & sacrifice ratio

Shagun's capital account will be debited by 3,000 and Anubhav’s capital account credited by

3,000

5. Correct Answer: D

Particulars Vihan Mann
Closing Capital 4,00,000 4,65,000
Add Drawings 65,000 65,000
4,65,000 5,30,000
Less Profit (3:2) 1,35,000 90,000
Opening Capital after 3,30,000 3,10,000
interest (110)
Less Interest on capital 30,000 28,182
(10)
Opening Capital Before 3,00,000 2,81,818
Interest (100)

6. Correct Answer: D

Irredeemable debentures are also known as Perpetual Debentures because the company
does not give any undertaking for the repayment of money borrowed by issuing such
debentures. These debentures are repayable on the winding-up of a company or on the
expiry of a long period.

OR

Basis Equity Shares Debentures Risk involved Shareholders are at a greater risk. They can
even lose the amount invested in shares. Debentures are relatively safe and secured.
Debentures are almost risk free.

7. Correct Answer: A
As per companies Act Securities premium can be utilised only for:
(a) issuing fully paid bonus shares to members

(b) writing off the balance of preliminary expenses of the company
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(c) writing off commission paid/discount allowed/expenses incurred on issue of shares or
debentures of the company

(d) for providing for the premium payable on redemption of preference shares

(e) for purchase of its own shares.

8. Correct Answer: D
In absence of information, it is assumed that profit sharing ratio as equal

Amount payable to retiring partner Amay:

Capital contributed = 50,000
Share of General reserve = 7500><% = 2,500
Share of gain on revaluation = 24000><% = 8,000

Goodwill of firm = X 30,000

Share of retiring partner = 30,000 x % = 10,000

Total Payable= 70,500
OR
Correct Answer: D

When the firm maintains fluctuating capital accounts, Salary to a partner should be Debited
to P & L Appropriation A/c and Credited to Partner’s Capital A/c.

9. Correct Answer: C
Paresh to get a commission of 10% on the net profit before charging any commission
Paresh’s Commission (Given) = X 44,000

So, Profit = 44,000 % — 4. 40,000

Ramesh to get a commission of 10% on the net profit after charging all commission.

5

www.tgcampus.com



https://www.tgcampus.com/
https://www.tgcampus.com/

U/~ 1omoRROW'S GENIUS
¥ - CAMPUS

So, Profit after Paresh’s Commission
=4,40,000—44,000 = 3,96,000

, . 10
So, Ramesh’s Commission =3,96,000 ><m = 36,000

10. Correct Answer: A

Net Profit Before Commission = X. 4, 40,000

Less: Paresh Commission = X. (44, OOO)

Less: Rameshs Commission =  X. (36,000)

Net Profit After Commission = X. 3,60,000
PSR is not Given Hence, its considerd Equal

So, Paresh Share of Profit

=3,60,000 x % =1,80,000.

11. Correct Answer. A

Interest on Partner’s Loan is charge against profit that we have to record under profit & Loss
A/c Partner’s Salary, Interest on Partner’s Capital, Partner's Commission are distributions
need to made out of profit and that we have to record in Profit & Loss Appropriation A/c.

12. Correct Answer: C

Particular Amount ()
Share capital A/C Dr (8x20)=160
To share forfeiture A/C (5x20)=100
To Calls in arrears A/C (3><20):60
Bank A/C Dr (6><15)=9O
Share forfeiture A/C Dr (4x15)=60
To share capital A/C (10><15) =150
Share forfeiture A/C Dr 15
To share capital reserve A/C 15
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Working notes:

Total capital =10x15=150

Receive capital =10x15=150
Newly received capital =6x15=90

Capital reserve =15

13. Correct Answer. C
i) Default on Calls

ii) Forfeiture of shares
iii) Re-issue of shares

Amount transferred to capital reserve.

14. Correct Answer: D

4 16 16

15. Correct Answer: D

Interest = Total Amount of Drawings x Rate x%

1500 (5000 4) x Rate x -

1500= (5000 x 4) x Rate X%

1500 = 20,000 x Rate x %

1500 x ;—25 — 20,000 % Rate

2400 = 20,000 x Rate
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Rate = 234880 %100
So, Rate =12%
OR
Correct Answer: D
2

G’s Share of Profit as per PSR =312000 x 3 = 78000

Guranteed amout of profit to G =80000

Hence, Deficiency Needs to be borne by E is 2000.

16. In case of dissolution of partnership, the firm continue to do business but with a
changed agreement. In case of dissolution of partnership firm, the firm ceases to exist, the
assets of the firm are realised and its liabilities are discharged.

Section B
17.
Dr R’s Capital A/c Cr
Date Particulars JF Amount Date Particulars JF Amount
2017 (%) 2017 (%)
Jun 30 To Drawings 60,000 Apr1 | By Balance b/d 6,50,000
A/C
Jun 30 To Interest on 900 Jun 30 | By Interest on 16,250
Drawings A/C Capital A/c
Jun 30 ToR’s 6,35,350 Jun 30 | By Profit & Loss 30,000
Executor’s A/c Suspense A/C
6,96, 250 6,96, 250
18.
Particulars L.F | Debit Credit
Ajay’s Capital A/c 52,000
To Manish’s Capital A/c 4,000
To Sachin’s Capital A/c 48,000
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Particulars Ajay Manish Sachin Firm
Dr Cr Dr Cr Dr Cr Dr Cr
Profit taken back | 100000 60000 40000 200000
Interest on 48000 64000 88000 | 200000
capital to be
credited
100000 | 48000 60000 64000 | 40000 | 88000| 200000; 200000Q
52000 Dr 4000 cr 48000 Cr
OR
Profit and Loss Appropriation A/c.
Particulars Amount (X) | Amt Particulars Amt Amt
To interest on capital By Profit & Loss A/c 1,38,000
Amay’s Current A/c 9000
Amol’s Current A/c 4500
Rohan’s Current A/c 4500 18000
To Partner’s Current A/c
Amay 53000
Amol 40000
Rohan 27000 120000
138000 138000

19. An extract of Balance sheet of A Ltd. as at —

Particulars Note No. Amount (X)
Equity and Liabilities

Non-current liabilities
Long Term Borrowings 1 1,00,000

Notes to Accounts:

Note No. | Particulars Amount (X)

1 Long Term Borrowings
Loan from Indian Bank 1,00,000
1200,10% Debentures of 100 each issued as 1,00,000
Collateral Security 1,20,000

Less: Debenture Suspense Account (1, 20, 000) -
1,00,000

OR
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Particulars LF | Amount (X) | Amount

®)

Equity Share Capital A/c Dr. 500
To Equity shares forfeited A/c 350
To Calls in Arrears A/c 150
(Being 50 shares forfeited for non-payment
of calls)
(Being Mr. M’s shares forfeited)
Bank A/c Dr 160
Share Forfeited A/c Dr 40
To Share Capital A/c 200
(Being 20 shares reissued for Rs.8 per share)
Forfeited Share A/c Dr. 100
To Capital Reserve A/c 100
(Being gain on reissue of forfeited shares
transferred to Capital Reserve)

20. Rekha surrenders for Samiksha

1

= X

3 3

24

Sunita surrenders for Samiksha

New share of Rekha

3 3 9

"6 24 24
New share of Sunita

_2_2_2 8
6 18 18

New share of Teena

_1 o 1_4
6 30 30
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Share of Samiksha
3 2 1 97
=—t—t— = —
24 18 30 360
New Ratio :- iiiﬂ
24 18 30 360
135:80:48:97
Section C
21.
Books of Altaur Ltd.
Balance sheet (extracts) as at
Particulars Note Amount (X)

Equity and liabilities
Shareholder’s Fund
Share Capital

63, 25,000

Notes to accounts:
Note Particulars Amount ()

Share Capital
Authorised share capital -

25,00,000 equity shares of Rs.10 each 2,50, 000, 000
1,50,000 9% Preference shares @ Rs.100 each 1,50, 000,000
4,00,000,000

Issued share capital
8,00, 000 equity shares of Rs. 10 each 80, 00,000
Subscribed share capital -
Subscribed and fully paid up -
Subscribed but not fully paid up -
8,00,000 equity shares of 2.8 64, 00,000 -

Less: Calls in arrears (75, 000) 63,25,000
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22.
E,F and G Journal
Date | Particulars LF | Dr. Amount (X) | Cr. Amount ()
Realisation Account Dr 2,76,500
To Land & Building 1,00,000
To Machinery Account 50,000
To Furniture Account 90,000
To Debtors Account 36,500
(Individual Assets accounts closed by
transferring their balances to Realisation
Account)
Creditors Account Dr. 45,000
Outstanding Expenses A/c Dr. 17,000
To Realisation Account 62,000
(Individual External Liabilities Accounts
closed by transferring their balances to
Realisation Account)
Bank Account Dr. 1,66,900
To Realisation Account 1,66,900
( Assets realized and debtors collected)
Realisation Account Dr. 59,750
To Bank Account 59,750
(Creditors paid at a discount of 5% and
payment of outstanding expenses)
Realisation Account Dr. 5,000
To F’s Capital Account 5,000
(Remuneration paid to F for undertaking
dissolution process)
E’s Capital Account Dr. 44,940
F’s Capital Account Dr. 44,940
G’s Capital Account Dr 22,470
To Realisation Account 112,350
(Loss on Realisation transferred to partners’
Capital Accounts)
E’s Capital Account Dr. 4,000
F’s Capital Account Dr. 4,000
G’s Capital Account Dr. 2,000
To Profit & Loss Account 10,000
(Profit & Loss Account transferred to
partners’ Capital Accounts)
Bank Account Dr. 24,970
To G’s Capital Account 24,970
( Final payment received from G)
E’s Capital Account Dr. 81,060
F’s Capital Accoun Dr. 56,060
12
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To Bank Account

1,37,120

( Final payment madeto E and F )

23.

Section D

Date

Particulars

LF.

Amount (X)

Amount

Bank A/ c Dr.

34,00,000

To Equity Share Application A/c

34,00, 000

(Application money received on 85,000
shares)

Equity Share Application A/c Dr.

34,00,000

To Equity Share Capital A/c

24,00,000

To Equity Share Allotment A/c

6,00, 000

To Bank A/c

4,00,000

(Application money transferred to share
capital, share allotment and refunded)

Equity Share Allotment A/c Dr.

51,00,000

To Equity Share Capital A/c

36,00, 000

To Securities Premium A/c

15,00, 000

(Allotment due on 60,000 shares with
Premium)

Bank A/c Dr.

42,00,000

Calls in Arrears A/c Dr.

3,00,000

To Equity Share Allotment A/c

45, 00,000

(Allotment received on 56,000 shares)

Equity Share Capital A/c Dr.

4,00,000

Securities Premium A/c Dr.

1,00,000

To Share Forfeited A/c

2,00, 000

To Calls in Arrears A/c

3,00,000

(4,000 shares forfeited for non-payment of
allotment money)

Bank A/c Dr.

2,40,000

Share Forfeited A/c Dr.

60,000

To Equity Share Capital A/c

3,00,000

(3,000 shares re-issued @ X 80 per share)

Share Forfeited A/c Dr.

90,000

To Capital Reserve A/c

90,000

(Gain on re-issue of forfeited shares
transferred to capital reserve)
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OR

Books of Vikram Ltd.
Journal Entries

S.no | Particulars LF | Dr. Cr.
Amount Amount
Share Capital A/c Dr. 50,000
To Forfeited Share A/c 18,000
To Calls in arrears A/c 32,000

(Being 5000 shares forfeited for non-payment
of allotment and call money)

Bank A/c Dr. 36,000

To Share Capital A/c 30,000
To Securities Premium A/c 6,000
(Being 3000 shares reissued for Rs.12 per

share)

Forfeited Share A/c Dr. 10,800

To Capital Reserve A/c 10,800

(Being gain on reissue of forfeited shares
transferred to capital reserve account)

24,
Date Particulars L. F. Debit Credit
1°t April 20 | Revaluation A/C Dr 20000
To plant and Machinery A/C 20000
(Being plant and machinery revalued)
15t April 20 | Land and Building A/C 40000
Dr.
Provision for Doubtful debts A/C Dr. 40000
To Revaluation A/C 80000
(Bring land and building revalued and
provision for doubtful debts written back)
15t April 20 | Creditors A/C Dr. 40000
To Bills Payable A/C 40000
(Being Bills accepted from Mr. Anil)
15t April 20 | Revaluation A/C Dr. 60000
To Sunaina's current A/C 36000
To Tamanna's current A/C 24000
(Being profit on revaluation credited to
partners current account)

15t April 20 | Sunina's current A/C Dr. 12000
Tamanna's current A/C Dr. 8000
To Goodwill A/C 20000
(Being Goodwill written off)

14
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15t April 20 | Cash A/C Dr. 110000
To Pranav's Capital A/C 100000
To Premium for Goodwill A/C 10000

(Being capital and premium brought in by
new partner)

15t April 20 | Premium for Goodwill A/C Dr. 10000
To Sunaina's current A/Cs 6000
To Tamanna's current A/C 4000

(Being Premium distributed among
sacrificing partners)

15t April 20 | General Reserve A/C Dr. 120000
To sunaina's current A/C 72000
To Tamanna's current A/C 48000
(Being reserve distributed among old
partners)

15t April 20 | Workmen Compensation Reserve A/C Dr. 50000
To Claim for workmen compensation 20000
To Sunaina's current A/C 18000
To Tamanna's current A/C 12000

(Being provision for workmen
compensation provided and balance
reserve distributed among old partners)

OR
Dr. Revaluation A/c Cr.
Particulars Amount Particulars Amount (X)
(X)
To Provision for Doubtful Debts 400 By Building A/c 7,000
To Partner’s Capital A/c:
P 3,300
Q 2,200
R 1,100 6,600
7,000 7,000
Dr Partners Capital A/c Cr.
Particulars P Q R Particulars P Q R
Goodwill A/c | 13,500 4,500 | Balance b/d 15,000 | 10,000 | 10,000
Profit & Loss 600 400 200 Revaluation 3,300 2,200 1,100
Alc
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Cash 2,800 Goodwill A/c 9,000 6,000 3,000
Q’s Loan 15,000 R’s Current 1,900
A/c
P’s Current 1,900
Alc
Balance c/d 11,300 11,300
27,300 | 18,200 | 16,000 27,300 | 18,200 | 16,000
Dr Revaluation A/c Cr
Particulars Amount Particulars Amount
To Machinery 4,000 By Patents 4,000
To profit distributed: By Buildings 20,000
Punit 10,000
Rahul 6,000
Seema 4,000 20,000
24,000 24,000
25.
Dr Seema’s Capital A/c Cr
Date | Particulars Amt Particulars Amt
2015 2015
Oct1l | ToSeema’s 55,500 | April1 | By Balance b/d 30,000
Executor A/c
Oct1l By Reserves 4,000
Oct1 By Punit’s Capital a/c 7,500
20,000 | Oct1 By Rahul’s Capital a/c 4,500
Oct 1 By Revaluation a/c 4,000
Oct 1 By P/L Suspense a/c 4,000
Oct 1 By Interest on Capital 1,500
55,500 55,500
Dr Seema’s Executor’s A/c Cr
Date | Particulars Amt Particulars Amt
2015 2015
Oct1 | ToBank A/c 15,500 | Oct1 By Seema’s Capital a/c 55,500
Oct1 | To Seema’s 40, 000
executor’s
loan a/c
55,500 55,500
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Working Note:

30,000+ 26,000 + 24,000 + 30,000 + 40,000
Average Profit = ( c ) =30,000 Goodwill

= 30,000 x% 2 = 60,000

Seema’s share of Profit for 6 months = 40,000><£><£0 =4,000 Interest on Seema’s

Capital :30,000><£><£:1,500
100 12

26.

Ruchi Ltd Journal Issue of Debentures
Date Particulars LF Amount Amount
2011 Bank A/c Dr. 42,00,000
April 1

To Debenture Application 42,00,000
& Allotment A/c
(Being the Application and
allotment money received on
issue of Debentures)
June Debenture Application & 42,00,000
30 Allotment A/c Dr.
Loss on Issue of Debenture 3,36,000
A/c Dr.

To 7% debenture A/c 42,00,000

To Premium on 3,36,000
Redemption of Debenture A/c
(Being allotment of
Debentures redeemable at
8% premium)

Redemption of Debentures:

Date Particulars LF | Amount Amount
2014 Surplus i.e. balance in Statement of Profit & 10,50,000
Mar 31 | Loss Dr.
To Debenture redemption Reserve A/c 10,50,000
(Being the profits transferred to Debenture

Redemption Reserve)
April 1 | Debenture Redemption Investment A/c Dr. 6,30, 000
To Bank A/c 6, 30,000
(Being the Investment made as fixed deposit
as per Companies Act, 2013 earning Interest

17
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@10% )
2015 Bank A/c Dr. 6,86, 700
Mar 31
TDS collected A/c Dr. 6,300
To Debenture Redemption Investment A/c 6,30,000
To Interest Earned A/c 63,000
(Being the fixed deposit encashed on
Redemption and interest received @ 10%
p.a.)
Mar 31 | 7% Debenture A/c - Dr 42,00,000
Premium on Redemption of Debenture A/c --- 3,36,000
--- Dr.
To Debenture holder’s A/c 45, 36,000
(Being amount due to Debenture holders)
Mar 31 | Debenture holder’s A/c Dr. 45, 36,000
To Bank A/c 45, 36,000
(Being the amount due paid on redemption)
Mar 31 | Debenture Redemption Reserve A/c Dr. 10,50,000
To General Reserve A/c 10,50, 000
(Being Debenture Redemption Reserve
transferred to General Reserve)

27. Attributes of information to be stored in Payroll data base:

Part B

Section A

e Name

e |D

e Designation

e Location

OR

Primary key is a key in the relational database that is unique for each record. It consists of

minimum possible one or more than one attributes of a table such as telephone number

with area code.

28. Computerised Accounting system takes (i) Accounting transactions as inputs which are

processed through (ii) Accounting software to generate reports.

www.tgcampus.com
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29. Correct Answer: C
Al:E2 in Excel refers to : Column between start and end points of Excel sheet
OR

(a) Bringing up the monthly summary of Bank Book. Bringing the cursor to the first month
and pressing enter.

c) This Brings up the vouchers for the month. Since this is a bank account, an additional
button F5: reconcile will be visible on the right Press F5.

b) The display becomes Edit Screen in Reconciliation mode. The primary components are A
column for the ‘Bankers Date’ Amounts not reflected in banks and balance as per banks.

30. Answer.

Cost of installation and maintenance is generally low with ~ Generic Software and is
relatively high with Specific software.

Section B
31. Answer.

The Adjusting entry is recorded to relate the figures to the trading period. Suppose,
premises have been sublet on March 31, and three months’ rent, has been received in
advance amounting to X.12000. While preparing accounts up to 31st March, one should take
into account only one month’s rent for preparing the profit and loss account (accounting
period concept); the rest two

month’s rent, already received is for the next year and will be credited to profit and loss
account next year. The adjusting entry will be:

Rent Account Dr
To Advance Rent Account

Rent Received in advance Account is a ‘Liability’ and is shown in the balance sheet.

19
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32. Types of Accounting Vouchers
(i) Contra Vouchers
(ii) Payments Vouchers

(iii) Receipt Vouchers

Section C
33. Sequential codes

These are the codes in which code numbers and/or letters are assigned in a consecutive
order. These codes are applied primarily to source documents such as cheques, invoices etc.
This facilitates document searches. This process enables either identification of missing
codes (numbers) relating to a particular document or to trace a relevant document on the
basis of the codes.

Mnemonic codes

These codes consist of alphabets or abbreviations as symbols to codify a piece of
information. SJ for sales journal, HQ for Headquarters are examples of mnemonic codes.

OR
Features of computerized accounting system:
(i) Simple and integrated.
(ii) Transparency and control.
(iii) Accuracy and speed.
(iv) Scalability.

(v) Reliability
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Section D

34. A format change, such as background cell shading or font colour that is applied to a cell
when a specified condition for the data in the cell is true. Conditional formatting is often
applied to worksheets to find:

a. Data that is above or below a certain value. Duplicate data values.

b. Cells containing specific text. Data that is above or below average.

c. Data that falls in the top ten or bottom ten values.

Benefits of using conditional formatting:

i) Helps in answering questions which are important for taking decisions.
ii) Guides with help of using visuals.

iii) Helps in understanding distribution and variation of critical data.
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